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SHARES AND DIVIDENDS

1. Calculate the money required to buy:

(1) 350, 20rs shares at a premium of 7rs.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_FxTP9azga7AT

(i) 275, 60rs shares at discount of 10rs.

(iii) 50, 40rs shares quoted at 38.507s.

° Watch Video Solution

2. Rakhee invested 12500rs in shares of a
company paying 6 % dividend per annum. If
she bought 50rs shares for 62.50rs each, find

her income from the investment.

o Watch Video Solution



https://dl.doubtnut.com/l/_FxTP9azga7AT
https://dl.doubtnut.com/l/_LtLBXF7jSxJi

3. Ramesh buys 100rs shares at 20rs premium
in a company paying 15 % dividend. Find (i)
the market value of 600 shares , (ii) his annual

income , (iii) his percentage income.

o Watch Video Solution

4. Find the dividend due at the end of a year
on 250 shares of 50rs each, if the half-yearly

dividend is 4 % of the value of the share.

o Watch Video Solution



https://dl.doubtnut.com/l/_hz2vHF8ry42q
https://dl.doubtnut.com/l/_utbt7WChfYg0

5. A man bought 500 shares, each of face value
10rs of a certain business concern and during
the first year after purchase, receives 400rs as
dividend on his shares. Find the rate of

dividend on the shares.

o Watch Video Solution

6. Mukul invests 9000rs in a company paying a
dividend of 6 % per annum when a share of

face value 100rs stands at 1507rs. What is his


https://dl.doubtnut.com/l/_utbt7WChfYg0
https://dl.doubtnut.com/l/_a9GLHFnU2aTD
https://dl.doubtnut.com/l/_Gz9Mn5qxY3ul

annual income ? If he sells 50 % of his shares
at 200rs each , what is his gain in this

transaction ?

o Watch Video Solution

7. A man wants to buy 62 shares available at
132rs (par value being 100rs).

(i) How much he will have to invest ?

(i)If the dividend is 7.5 % what will be his
annual income ?

(iii) If he wants to increase his annual income


https://dl.doubtnut.com/l/_Gz9Mn5qxY3ul
https://dl.doubtnut.com/l/_3zVtILsBV5sP

by 150rs how many extra shares should he

buy ?

° Watch Video Solution

8. A company with 4000 shares of nominal
value of 110rs each declares an annual
dividend of 15 % . Calculate :

(i) the total amount of dividend paid by the
company.

(ii) the annual income of Shah Rukh who holds

88 shares in the company ?


https://dl.doubtnut.com/l/_3zVtILsBV5sP
https://dl.doubtnut.com/l/_kdVySwQea7v8

(iii) if he received only 10 % on his investment,

find the price Shah Rukh paid for each share.

° Watch Video Solution

9. A man buys a 80rs share in a company
which pays 20 % dividend. He buys the share
at such a price that his profit is 16 % on his

investment. At what price did he buy the share

?

° Watch Video Solution



https://dl.doubtnut.com/l/_kdVySwQea7v8
https://dl.doubtnut.com/l/_fQrXWaCueSed
https://dl.doubtnut.com/l/_bjnpARVIrbV7

10. Ajay owns 560 shares of a company. The
face value of each share is 25rs. The company
declares a dividend of 9 % . Calculate

(1) the dividend that Ajay will get

(ii) the rate of interest on his investment, if

Ajay had paid 30rs for each share.

o Watch Video Solution

11. How much should a man invest in 80rs

shares selling at 7brs to obtain an annual


https://dl.doubtnut.com/l/_bjnpARVIrbV7
https://dl.doubtnut.com/l/_yH0tMKdMMvfB

income of 1080rs , if the dividend declared is

15 percent ?

° Watch Video Solution

12. A dividend of 9% was declared on 100rs
share selling at a certain price. If the rate of
return is 7.5 % calculate

(i) the market value of the share

(ii) the amount to be invested to obtain an

annual dividend of 630rs

o Watch Video Solution



https://dl.doubtnut.com/l/_yH0tMKdMMvfB
https://dl.doubtnut.com/l/_aMZGT0jEnFdB

13. Which is a better investment : 12 %, 1007s

shares at 120 or 8 % 100rs shares at 90 ?

o Watch Video Solution

14. A man sells 60 , 157s shares of a company
paying 12 percent dividend, at 21rs each and
invests the proceedsin 6rs shares of another
company at 9rs each. Find his change in
income, if the second company pays a dividend

of 8 percent


https://dl.doubtnut.com/l/_aMZGT0jEnFdB
https://dl.doubtnut.com/l/_puAnIO5QrvnI
https://dl.doubtnut.com/l/_yxcfuJCDE1Lw

° Watch Video Solution

15. Mr. Ram Gopal invested 8000rs in 7 %
100rs shares at 80rs. After a year, he sold
these shares at 75rseach and invested the
proceeds (including his dividend ) in 18 %,
25rs shares at 41rs .Find

(1) his dividend for the first year

(i) his annual income in the second year

(i) the percentage increase in his return on

his original investment.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_yxcfuJCDE1Lw
https://dl.doubtnut.com/l/_nSk6aErUu33A

16. Ashok and Sandeep invest 180007s each in
buying shares of two different companies.
Ashok buys 7.5 % 100rs shares at a discount
of 20 % , whereas Sandeep buys 50rs shares at
a premium of 20% . If both receive equal
dividend at the end of the year, find the rate of

dividend received by Sandeep.

o Watch Video Solution



https://dl.doubtnut.com/l/_nSk6aErUu33A
https://dl.doubtnut.com/l/_WRx6Tdzxbesv

17. John had 1000 shares of a company with a
face value of 40rs and paying 8 % dividend.
He sold some of these shares at a discount of
10% and invested the proceeds in 20rs
shares at a premium of 50 % and paying 12 %
dividend. If the change in his income is 192rs,

find the number of shares sold by John.

o Watch Video Solution



https://dl.doubtnut.com/l/_TUJqUbhcADKW

18. Divide 406087s into two parts such that if
one part is invested in 8 % 100rs shares at
8 % discount and the other part is invested in
9% Rs100 shares at 8 % premium , the
annual incomes from both the investments

are equal.

o Watch Video Solution

19. A man has a choice to invest in hundread

rupee shares of two companies A and B .


https://dl.doubtnut.com/l/_jtJi5bVoVDqX
https://dl.doubtnut.com/l/_pybtuUbnfwFs

Shares of company A are available at a
premium of 20% and it pays 8 % dividend
whereas shares of company B are available at
a discount of 10 % and it pays 7% dividend.
If the man ivests equally in both the
companies and the sum of the return from
them is 936rs, find how much, in all does he

invest ?

° Watch Video Solution



https://dl.doubtnut.com/l/_pybtuUbnfwFs
https://dl.doubtnut.com/l/_f37ozv1WDsZA

1. How much money will be required to buy

400, 12.50rs shares at a premium of 1rs ?

o Watch Video Solution

2. How much money will be required to buy

250, 157rs shares at a discount of 1.50rs ?

o Watch Video Solution

3. A person buys 120 shares at a nominal value

of 40rs each, which he sells at 42.50rs each.


https://dl.doubtnut.com/l/_f37ozv1WDsZA
https://dl.doubtnut.com/l/_tEIT5qbx0pPE
https://dl.doubtnut.com/l/_jmUeObwIv1oO

Find his profit and profit percent.

o Watch Video Solution

4. Find the cost of 85 shares of 60rs each

when quoted at 63.257s.

° Watch Video Solution

5. A man invests 800rs in buying 5rs shares

and when they are selling at a premium of


https://dl.doubtnut.com/l/_jmUeObwIv1oO
https://dl.doubtnut.com/l/_LLtIiz0hWfzv
https://dl.doubtnut.com/l/_NCTpcLZzj5zz

1.157s, he sells all the shares. Find his profit

and profit percent.

° Watch Video Solution

6. Find the annual income derived from 125,

120rs shares paying 5 % dividend.

o Watch Video Solution

7. A man invests 3072rs in a company paying

5% per annum, when its 10rs share can be


https://dl.doubtnut.com/l/_NCTpcLZzj5zz
https://dl.doubtnut.com/l/_bHN6AUfwtVnW
https://dl.doubtnut.com/l/_dOVSEZFcD6A2

bought for 16rs 16 each. Find.
(i) his annual income

(1) his percentage income on his investment

° Watch Video Solution

8. A man invests 7770rs in a company paying 5
percent dividend when a share of nominal
value of 1007s sells at a premium of 5rs. Find.
(i) the number of shares bought

(ii) annual income

(i) percentage income

| e |


https://dl.doubtnut.com/l/_dOVSEZFcD6A2
https://dl.doubtnut.com/l/_vaqxIVtddjRt

& Wwatch Video Solution I

9. A man buys 50rs shares of a company,
paying 12 percent dividend at a premium of
107s Find :

(i) the market value of 320 shares

(ii) his annual income

(iii) his profit percent

o Watch Video Solution



https://dl.doubtnut.com/l/_vaqxIVtddjRt
https://dl.doubtnut.com/l/_Uueemw8r5Imo

10. A man buys 757s shares at a discount of
157s of a company paying 20 % dividend Find.
(i) the market value of 120 shares

(ii) his annual income

(iii) his profit percent

o Watch Video Solution

11. A man has 300, 50rs shares of a company
paying 20 % dividend. Find his net income

after paying 3 % income tax.

| & I


https://dl.doubtnut.com/l/_yC3oPCln4GW8
https://dl.doubtnut.com/l/_N1VJnqUEiLqI

| ¥ Watch Video Solution |

12. A company pays a dividend of 15 % on its
ten -rupee shares from which it deducts
income tax at the rate of 22%. Find the
annual income of a man who owns one

thousand shares of this company ?

o Watch Video Solution

13. A man invests 8800rs in buying shares of a

company of face value of rupees hundred each


https://dl.doubtnut.com/l/_N1VJnqUEiLqI
https://dl.doubtnut.com/l/_tAdcLP0w8h0u
https://dl.doubtnut.com/l/_1e1Mf1cDTBoW

at a premium of 10 % . If he earns 1200rs at
the end of the year as dividend, find :

(i) the number of shares he has in the
company

(i) the dividend percent per share.

o Watch Video Solution

14. A man invests 1680rs in buying shares of
nominal value 24rs and selling at 12 %
premium. The dividend on the shares is 15 %

per annum . Calculate


https://dl.doubtnut.com/l/_1e1Mf1cDTBoW
https://dl.doubtnut.com/l/_KdnOJToGq86b

(1) the number of shares he buys,

(i) the dividend he receives annually

° Watch Video Solution

15. By investing 7500rs in a company paying 10
percent dividend, an annual income of 500rs is
received. What price is paid for each of 100rs

share ?

o Watch Video Solution



https://dl.doubtnut.com/l/_KdnOJToGq86b
https://dl.doubtnut.com/l/_FGtg848Q0ZyT

1. A man buys 75,100rs shares paying 9
percent dividend. He buys shares at such a
price that he gets 12 percent of his money. At

what price did he buy the shares ?

o Watch Video Solution

2. By purchasing 257s shares for 40rs each, a

man gets 4 percent profit on his investments.


https://dl.doubtnut.com/l/_SA6v5R4MZiQq
https://dl.doubtnut.com/l/_JfkJuUuLBO3r

What are rate percent is the company paying ?

What is his dividend if he buys 60 shares ?

° Watch Video Solution

3. Hundread rupee shares of a company are
available in the market at a premium of 20rs.
Find the rate of dividend given by the
company when a man's return on his

investment is 15 percent.

° Watch Video Solution



https://dl.doubtnut.com/l/_JfkJuUuLBO3r
https://dl.doubtnut.com/l/_wSkVBK9N5Vyn
https://dl.doubtnut.com/l/_ansBDdr3OHKO

4. 50rs shares of a company are quoted at a
discount of 10 % . Find the rate of dividend
given by the company, the return on the

investment on these shares being 20 percent.

° Watch Video Solution

5. A company declares 8 percent dividend to
the share holders. If a man receives 2840rs as
his dividend, find the nominal value of his

shares.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_ansBDdr3OHKO
https://dl.doubtnut.com/l/_8eQWHFTgL4Rk

6. How much should a man invest in 100rs
shares selling at 110rs to obtain an annual

income of 1680rs, if the dividend declared is

12 %

° Watch Video Solution

7. A company declares a dividend of 11.2 % to
all its share holders. If its 60rs share is

available in the market at a premium of 25 %,


https://dl.doubtnut.com/l/_8eQWHFTgL4Rk
https://dl.doubtnut.com/l/_QG7AuFKbV5vV
https://dl.doubtnut.com/l/_F9o8kVl5Jz8M

how much should Rakesh invest, in buying the
shares of this company, in order to have an

annual income of 1680rs ?

° Watch Video Solution

8. A man buys 400, twenty-rupee shares at a
premium of 4rs each and receives a dividend
of 12 % . Find:

(i) the amount invested by him

(ii) his total income from the shares

(i) percentage return on his money.

| e |


https://dl.doubtnut.com/l/_F9o8kVl5Jz8M
https://dl.doubtnut.com/l/_2YrXGRajqTuS

& Wwatch Video Solution I

9. A man buys 400 twenty rupee shares at a
discount of 20% and receives a return of
12 % on his money. Calculate :
(i) the amount invested by him

(ii) the rate of dividend paid by the company

° Watch Video Solution

10. A company with 10000 shares of 100rs each

declares an annual dividend of 5 %


https://dl.doubtnut.com/l/_2YrXGRajqTuS
https://dl.doubtnut.com/l/_bWZAHiFXrCeN
https://dl.doubtnut.com/l/_xgidXmV4LsTT

(i) What is the total amount of dividend paid
by the company ?
(ii) What should be the annual income of man

who has 72 shares in the company ?

o Watch Video Solution

1. A lady holds 1800 , 100rs shares of a
company that pays 15 % dividend annually.
Calculate her annual dividend. If she had
bought these shares at 40 % permium, what

is the return she gets as percent on her


https://dl.doubtnut.com/l/_xgidXmV4LsTT
https://dl.doubtnut.com/l/_WQG3L48MLyIv

investment ?

Give your answer to the nearest integer.

° Watch Video Solution

12. A man ivests 112007s in a company paying
6 percent per annum when its 100rs shares
can be bought for 140rs Find :

(i) his annual dividend

(i) his percentage return on his investment

° Watch Video Solution



https://dl.doubtnut.com/l/_WQG3L48MLyIv
https://dl.doubtnut.com/l/_Ieh6pJkME8NP
https://dl.doubtnut.com/l/_pDki7GYl6CVQ

13. Mr. Sharma has 60 shares of N.V. 100rs and
sells them when they are a premium of 60 % .
He invests the proceeds in shares of nominal
value 50rs, quoted at 4% discount, and
paying 18 % dividend annually. Calculate

(i) the sale proceeds

(ii) the number of shares he buys and

(iii) his annual dividend from the shares

o Watch Video Solution



https://dl.doubtnut.com/l/_pDki7GYl6CVQ

14. A company with 10000 shares of nominal
value 100rs declares an annual dividend of
8 % to the share-holders

(i) Calculate the total amount of dividend paid
by the company.

(i) Ramesh had bought 90 shares of the
company at 150rs per share. Calculate the
dividend he receives and the percentage of

return on his investment.

o Watch Video Solution



https://dl.doubtnut.com/l/_OtNv0ix74stj
https://dl.doubtnut.com/l/_VYZWvsFOeCMs

15. Which is the better investment 16 % 1007rs

shares at 80 or 20 % 100rs shares at 120 ?

o Watch Video Solution

16. A man has a choice to invest in hundread
rupee shares of two firms at 1207s or at 132rs.
The first firm pays a dividend of 5% per
annum and the second firm pays a dividend of
6 % per annum. Find :

(1) which company is giving a better return.

(ii) if a man invests 26400rs with each firm


https://dl.doubtnut.com/l/_VYZWvsFOeCMs
https://dl.doubtnut.com/l/_Mauktiyja2W4

how much will be the difference between the

annual returns from the two firms ?

o Watch Video Solution

17. A man bought 360 ten- rupee shares of a
company paying 12 percent per annum. He
sold the shares when their price rose to 21rs
per share and invested the proceeds in five-
rupee shares paying 4.5 percent per annum at
3.50rs per share. Find the annual change in

his income.

| e |


https://dl.doubtnut.com/l/_Mauktiyja2W4
https://dl.doubtnut.com/l/_4bFWLMIf9rwu

& Wwatch Video Solution I

18. A man sold 400 (20rs) shares of a
company, paying 5 % at 18rs and invested the
proceeds in (10rs) shares of another company
paying 7% at 12rs. How many (10rs) shares
did he buy and what was the change in his

income ?

° Watch Video Solution



https://dl.doubtnut.com/l/_4bFWLMIf9rwu
https://dl.doubtnut.com/l/_jOlrIz5cLhDP

19. Two brothers A and B invest 160007s each
in buying shares of two companies. A buys
3 % hundread-rupee shares at 80 and B buys
ten-rupee shares at par. If they both receive
equal dividend at the end of the year, find the

rate percent of the dividend received by B.

o Watch Video Solution

20. A man invests 200207s in buying shares of

N.V. 26rs at 10 % premium. The dividend on


https://dl.doubtnut.com/l/_Ys7tWJYVRggt
https://dl.doubtnut.com/l/_P7OK4y0lGsuy

the shares is 15 % per annum. Calculate
(1) the number of shares he buys
(i) the dividend he receives annually

(iii) the rate of interest he gets on his money

° Watch Video Solution

1. By investing 450007s in 10 % 100rs shares,
Shared gets 3000rs as dividend. Find the

market value of each share.



https://dl.doubtnut.com/l/_P7OK4y0lGsuy
https://dl.doubtnut.com/l/_cf0pDg5uf8K8

o Watch Video Solution

2. Mrs. Kulkarni invests 131040rs in buying
100rs shares at a discount of 9% . She sells
shares worth 72000 at a premium of 10 % and
the rest at a discount of 5% . Find her total

gain or loss on the whole.

o Watch Video Solution

3. A man invests a certain sum in buying 15 %

1007s shares at 20 % premium. Find :


https://dl.doubtnut.com/l/_cf0pDg5uf8K8
https://dl.doubtnut.com/l/_jq5J9ruunBsT
https://dl.doubtnut.com/l/_Tcjf4sSPjMdL

(i) his income from one share.
(i) the number of shares bought to have an
income, from the dividend 6480rs

(iii) sum invested

o Watch Video Solution

4. Gagan invested 80 % of his savings in 10 %
1007s shares at 20 % premium and the rest of
his savings in 20% 50rs shares at 20 %
discount. If his incomes from these shares is

5600rs calculate


https://dl.doubtnut.com/l/_Tcjf4sSPjMdL
https://dl.doubtnut.com/l/_f8tbPVlpKFTx

(i) his investment in shares on the whole

(ii) the number of shares of first kind that he
bought.

(i) percentage return on the shares bought

on the whole

o Watch Video Solution

5. Ashwarya bought 496, 100rs shares at
132rs each. Find
(1) investment made by her

(i) income of Ashwarya from these shares, if


https://dl.doubtnut.com/l/_f8tbPVlpKFTx
https://dl.doubtnut.com/l/_Y690kwdwW1fr

the rate of dividend is 7.5 %
(447) how much extra must Ashwarya invest in

order to increase her income by 7200rs ?

o Watch Video Solution

6. Gopal has some 1007s shares of company A,
paying 10% dividend. He sells a certain
number of these shares at a discount of 20 %
and invests the proceeds in 100rs shares of
60rs of company B paying 20 % dividend. If

his income from the shares sold increases by


https://dl.doubtnut.com/l/_Y690kwdwW1fr
https://dl.doubtnut.com/l/_iJE2OuUqQ8U5

180007s find the number of shares sold by

Gopal

° Watch Video Solution

7. A man invests a certain sum of money in
6 % hundread rupee shares at 12rs premium.
When the shares fell to 96rs he sold out all
the shares bought and invested the proceed
in 10 % ten rupee shares at 8rs. If the change
in his income is 540rs find the sum invested

originally.

| e |


https://dl.doubtnut.com/l/_iJE2OuUqQ8U5
https://dl.doubtnut.com/l/_5S1BKLaGjDEL

& Watch Video Solution I

8. Mr. Gupta has a choice to invest in ten-rupee
shares of two firms at 13rs or at 16rs. If the
first firm pays 5% dividend and the second
firm pays 6 % dividend per annum, find :

(1) which firm is paying better

(i) if Mr. Gupta invests equally in both the
firms and the difference between the returns
from them is 30rs, find how much, in all does

he invest ?

° Watch Video Solution



https://dl.doubtnut.com/l/_5S1BKLaGjDEL
https://dl.doubtnut.com/l/_TY25iLbUVQnj

9. Ashok invested 26400rs in 12% , 25rs
shares of a company. If he receives a dividend
of 2475rs find the

(i) number of shares he bought

(ii) market value of each share.

° Watch Video Solution

10. A man invested 45000rs in 15% 100rs
shares quoted at 1257s. When the M.V. of

these shares rose to 140rs, he sold some


https://dl.doubtnut.com/l/_TY25iLbUVQnj
https://dl.doubtnut.com/l/_Wi03s5ailT8n
https://dl.doubtnut.com/l/_mAHYaxDMOq84

shares, just enough to raise 8400rs Calculate
(i) the number of shares he still holds
(ii) the dividend due to him on these

remaining shares.

° Watch Video Solution

11. Mr. Tiwari invested 29040rs in 15 % 100rs
shares quoted at a premium of 20%.
Calculate

(1) the number of shares bought by Mr. Tiwari


https://dl.doubtnut.com/l/_mAHYaxDMOq84
https://dl.doubtnut.com/l/_ytuqvbb9Fj3S

(ii) Mr. Tiwari income from the investment

(iii) the percentage return on his investment

° Watch Video Solution

12. A dividend of 12 % was declared on 150rs
shares selling at a certain price. If the rate of
return is 10 % calculate

(i) the market value of the shares

(ii) the amount to be invested to obtain an

annual dividend of 1350rs

° Watch Video Solution



https://dl.doubtnut.com/l/_ytuqvbb9Fj3S
https://dl.doubtnut.com/l/_H260xBlPh2c9

13. Divide 507607s into two parts such that if
one part is invested in 8% 100rs shares at
8 % discount and the other in 9% 100rs
shares at 8 % premium the annual incomes

from both the investments are equal

o Watch Video Solution

1
14. Mr. Shameem invested 33. 3 % of his
savings in 20 % 50rs shares quoted at 60rs

and the remainder of the savings in 10 %


https://dl.doubtnut.com/l/_H260xBlPh2c9
https://dl.doubtnut.com/l/_LDvjPFV8EsbI
https://dl.doubtnut.com/l/_01q5bvugaaEX

100rs shares quoted at 110rs. If his total
income from these investments is 9200rs find
(1) his total savings

(ii) the number of 507s shares

the number of 100rs shares

o Watch Video Solution

15. Vivek invests 45007s in 8 % 10rs shares at
157s. He sells the shares when the price rises
to 30rs, and invests the proceeds in 12%

1007s shares at 125rs. Calculate


https://dl.doubtnut.com/l/_01q5bvugaaEX
https://dl.doubtnut.com/l/_551W2KSb78td

(i) the sale proceeds
(i) the number of 125rs shares he buys
(i) the change in his annual income from

dividend.

° Watch Video Solution

16. Mr.Parkeh invested 52000 on 100rs shares
at a discount of 20rs paying 8 % dividend. At
the end of one year he sells the shares at a

premium of 207rs. Find


https://dl.doubtnut.com/l/_551W2KSb78td
https://dl.doubtnut.com/l/_HFsrJW8MkgQE

(i) the annual dividend

(i) the profit earned including his dividend

° Watch Video Solution

17. Salman buys 50 shares of face value 1007s
available at 132rs

(i) What is his investment ?

(ii) If the dividend is 7.5 % what will be his
annual income ?

(iii) If he wants to increase his annual income


https://dl.doubtnut.com/l/_HFsrJW8MkgQE
https://dl.doubtnut.com/l/_GARoE6uyRQYz

by 150rs how many extra shares should be

buy ?

° Watch Video Solution

18. Salman invests a sum of money in 50rs
shares paying 15 % dividend quoted at 20 %
premium. If his annual dividend is 600rs,
calculate

(i) the number of shares he bought

(ii) his total investment

(iii) the rate of return on his investment

| |


https://dl.doubtnut.com/l/_GARoE6uyRQYz
https://dl.doubtnut.com/l/_1gQPZOuw4xrL

& Watch Video Solution I

19. Rohit invested 9600rs on 100rs shares at
207s premium paying 8 % dividend. Rohit sold
the shares when the price rose to 160rs . He
invested the proceeds (excluding dividend) in
10 % 50rs shares at 40rs find the

(i) original number of shares

(i) sale proceeds

(iii) new number of shares

(iv) change in the two dividends

° Watch Video Solution



https://dl.doubtnut.com/l/_1gQPZOuw4xrL
https://dl.doubtnut.com/l/_D4OIIYW4GMJf

20. How much should a man invest in 50rs
shares selling at 60rs to obtain an income of
450rs if the rate of dividend declared is 10 % .
Also find his yield percent to the nearest

whole number.

° Watch Video Solution



https://dl.doubtnut.com/l/_D4OIIYW4GMJf
https://dl.doubtnut.com/l/_kIaTNteeloYV

